
Assignment 5 
 

Practice Test for Test 1 
Simplify each expression. 
 

1.   3x2 + 2( ) 2x2 − 4( )  

 
 
 
 
 
2.   −x2y 5x2y + 3xy − xy2( )  

 
 
 
 
 
3.   −3x2y( ) 5x3y2( ) −y3( )  

 
 
 
 
 
 
4.    x2 + y( ) x − y( )  

 
 
 
 
 
 
5.    (5x − 2)(5x + 2)  
 
 
 
 
 
6.    −3x2y5( )3  
 

7.   −xy( )3 −2x2y3( )  

 
 
 
 
 
8.   −3xy3 x3y − 2x2y22 + xy3( )  

 
 
 
 
 
9.   −x3y( )3 4xy2( ) −x2y( )5  

 
 
 
 
 
 
10.    2x2yz3( )3  

 
 
 
 
 
 

11.    3x3y2( ) −2x2( ) −3xy3( )  
 
 
 
 
 
 
12.   x3 − 5x2 + 3x + 2x3 + 8x2 − 3x + 2  
 
 
 
 
 

Name: ____________________________ 
 

13.   5x3 x2y + 2xy2 − 5y3( )  

 
 
 
 
 
14.   −2x3y2( )2 −5xy2( ) xy2( )3  

 
 
 
 
 
 
15.    x + 5( ) x − 7( )  
 
 
 
 
 
16.   3x2 + 4x − 9 + 5x3 − x2 + 2x −1  
 
 
 
 
 
 
17.   3x + y( ) 3x + y( )  
 
 
 
 
 
 
18.    −2a4b2c3( )3  
 
 


